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PHYSICS /sifoeromen

The power of a crane, which lifts a mass
of 50 kg to a height of 20 m in 20 second
will be (Given, g = 9.8 m/s2)

(A) 490W

(B) 980 W

(C) 1000 W

(D) 500 W

An object is placed between center of
curvature and focus of a concave mirror.
Which property is false for the image thus
formed ?

(A) Real

(B) Inverted

(C) At infinity
(D) Enlarged

The laws of reflection are valid only for

(A) Convex mirrors

(B) All mirrors (irrespective of their
shape)

(C) Plane mirrors

(D) Concave mirrors

A boy of mass 50 kg runs up a staircase
of 50 steps in 10 s. If height of each step
is 15 cm, what will be the power of boy ?
(Given: g=10 m/s%)

1. T 3 50 FFI g # 20 YU #

90 T, I Ia1 A &, IaH Wl gfl
(fezn & g=9.87f./8.%)

(A) 490 dTie
(B) 980 91
(C) 1000 9T
5 of-#H0]
(D) 500dTC R
o} 2 5
fopeht Itaaet edur % FehaT Feg aYT Bk

¥ aea S ag Wil ® | 39 w1 fafa= %
ey o HA-|1 0 I R 7

(A) TR

(B) I

(C) 3 d W

(D) ST

e & frem = § $ad

(A) I U

@B) a+ft gdur (fopeft oft 3w <)
(C) TWae gul

(D) I gl

50 kg SSIUH 1 Uh 16l 50 Hifgal 10 s
% Jear 3 | Ife Th Higl Sl F9E 15 cm
2, @ Ae% I ufda w17 ?
(e T R : g = 10 m/s?)

(A) 250 W (A) 250 W
B) 375 W (B) 375 W
(C) 300 W (C) 300 W
(D) 3750 W (D) 3750 W
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5.

To convert an AC generator into

DC generator

(A) Slip rings and brushes must be
used

(B) Split ring type commutator must be
used

(C) A stronger magnetic field has to be
used

(D) A rectangular conductive wire loop

has to be used

Colour of scattered light depends on the
size of scattering particle of medium.
On the basis of this which of the
following pair is mismatched ?
(A) Bluelight - very fine particles
(B) Red light
(C) Yellow light — large size particle
(D) White light — water droplet present
in cloud

— fine particle

The velocity-time graph of a particle is
shown in figure. The distance travelled
by a particle in 10 s will be

B
VA (m/s) ¥EI S
. [
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5. WH YTEd arq St i e ura S §

yfafda 0 & fog

(A Tw for (aer) T w0 H IT=
F §

B) T Ior RegpaRades 1 ST Fd

(C) T ViRTeht JEhg &F w1 ITN
AT gl B

(D) STeT®h AR % AFAIHR T4 1 ITANT
T TS 8

wehiftta werrer =1 Foi Hrem #§ Iuferd

IO 9T FHOI % qgs W i

T & | 39 3R | = 3 § -4

SreT 3T 8 7

(A) e THm - AT GEH HU

(B) O YbT¥T  — F&H 0T

(C) HieTT ThIT - &S AR I H0I

(D) &4 ThI - SIEel 0 SUeyd S
RIRC

foreht <o 1 =ITet-qw 7 o 3 gt R
¥ | %0 g 10, & 7@ g Aft

(A) 65m ) 6541
(B) 26 m (B) 26.
(C) 130 m (C) 1307,
D) 13 m D) 13 t.
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8. Two c?nductmg wires of the same 8. T M ued % e dar faeh T
st st o ey e 1, e e
ers are series X
ar?cﬁ;en in parallel, in a circuit across et A qgﬁ 7 3
the same potential difference. The ratio Tlsh (ST 5h) & St mm% g
of the heat produced in series and in Softshm 3T Tz (waTR W) T A
parallel combinations would be I FHETIAT HI AT T G 7
A) 1:2 A) 1:2
®) 2:1 ER;E B) 2:1
©) 1:4 oy © 1:4
D) 4:1 (D) 4:1
9. If the focal length of a spherical mirror 9. 3fe forelt Ml edor 6 By @ 90 att
is 20 cm. The radius of curvature of %’ o Tiieft gl 6t a6 B gt
spherical mirror will be @A) 103
(B) 20 cm ot
() 30 cm © 30
(D) 40 cm (D) 40 &+t
10. A generator converts mechanical energy 10. Tk wfe =it T =i St Hi '3'{1?[ m‘f
into electrical energy. It works on the 5 | EEHYGI % | I8 __% g w
principle of FE w12 |
(A) Electric field (A) g &
(B) Magnetic field (B) T==hT &
(C) Magnetic induction (C) Tr=hd S
(D) Electromagnetic induction (D) JgA-FEHH S
11. The acceleration due to gravity near the ~ 11. T ! HaE H T e <= g ?1
surface of Earth is g. If both mass and gfg gea 1 FIHH T e et B I
radius of Earth reduced to half from T HH F amen e IR, @ e
their original value, the acceleration due et | AR
to gravity becomes (A) 4g
i ® 2
L) 2¢ © g
©) g 1

B



Two resistors of resistance 2 Q and 4 Q
when connected to a battery will have

(A) Same current flowing through them
when connected in parallel

(B) Same current flowing through them
when connected in series

(C) Same potential difference across
them when connected in series

(D) Different potential difference across
them when connected in parallel

Two lenses of power +2.0 D and +0.25 D
are put in contact. What is focal length
of the combination ?

(A) 0.55m
B) 1m EI .Ej
(C) 0.22m EEL
(D) 0.44m

14. When light rays enter the eye, most of

the refraction occurs at the

(A) Crystalline lens

(B) Outer surface of the cornea
(C) Iris

(D) Pupil

How can three resistors of resistances
2 Q, 3 Q and 6 Q be connected to give a
total resistance of 4 Q ?
(A) 3Q and 6 Q in parallel with 2 Q
series
(B) 2Q and 3 Q in parallel with 6 Q
series :
(C) 2Q and 6 Q in series with 3 Q
parallel

(D) 2 Q and 6 Q in parallel with 2 Q
series

12.

13.

14.

15.

83/2023

2 Qa1 4 QoY F & wfetiut = Ryt

¥ ¥ FEfE @ T Em

(A) TvEHn § gARE 8, @ 599 '6E U
atEd gt

B) Avfsen & gAIRE g, @t 378 99H ury
aTfea grft

(©) Avfism & sl &, d@ 3 Rl w
T favEmeR g

(D) uIEEsn # G981, a) 57 il W
= fenrara gt

+2.0 D 9T +0.25 D &0 911 &I <@l ol
TAIeA TR T | 59 EANE R BiwE g
R ?

(A) 0.55 m

B) 1m

(C) 0.22 m

(D) 0.44m

T YIS ohor 9 # Jaw el g, @
JIfRrepier Jrqade wEf AT § ?

(B) HIAT Y ST Tag W
(C) IRETRERT IT
(D) gaeft W

2Q,3QTU 6 Q JfeRiuHar aret &

wfereshl &1 fohe wor et g i 9

T IR 4 Q& 9 7

(A) 3Q9 6 QH TR w7 d =) 5 20
& |1y Jofiy B

(B) 207 3 Q% TU=R %5 i 5t fF 60
% WY Sl |

©) 2Q 9 6 Q% Jofim § &t iy 3 0%
Y FH=R 69 o |

D) 2QF 6 QH TR %1 § = ff 20
% 91y Avfisn § &)

—
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16. Anecho isheardin 4 seconds. What : .
distance of reflecting surface frq “isthe 16, ww yhweafy 4@ § ghH ot B 1 AR
' i Source 7 Wads dag & arft ?
(Given : speed of sound is 349 m/s.) Hdg ‘c'@ LRl f
(A) 1368 m (e mrn 2 ;= 342761, /3.2 1)
(©) 1280 m ol (B) 6407
(D) 684 m (C) 1280 .
(D) 684,
7 Do b frmain iy 1. v s i s, o
, e o
. b0 B0es R g 9t dg F i I A S
following sequential incidents from o e N N :
reaching to water droplet to our eyes mﬁ e ?IE q@ﬁ R P s, e
(A) Refraction, internal reflection, e 7 .
refraction (A) m, TR ‘m’aﬁ:[, 31"13?&[
(B) Internal reflection, refraction (B) HIdieh YU, e
(C) Refraction, internal reflection (C) TS, AN T
(D) Internal reflection, refraction, (D) JATAReH e, FITH, HAHH
internal reflection LCGE
18. An electric kettle consumes 1 kW of 18. I3 forga Faeht 220 VW y=fera e
electric power when operated 220 V. 1 kWﬁlg?l NIEN] ITEI HLAl 7 | 39 fom
A fuse wire of what rating must be fra Iua® % W@ aR H 3T Fn
used for it ? IET =IfRY ?
(A) 25 A (A) 25A
(B) 45A (B) 4.5A
(C) 65A (€) 65A
D) 7.0 A D) 7.0A
19. In the absence of friction in the cart 19 afgat Eﬂh T T I e sl hl
wheels and external unbalanced forces; f{, Th 50 kg SSHAM T ASHI
Aboy of mass 50 kg with 5 m/s horizontal 5 m/s < A T & T fRA 5 kg H 7k
velocity jumps onto a stationary Cfﬂ}rt of R el 2 | 39 Tl W W ufea el h
mass 5 kg. What will be the velocity of
. i & a2
cart carrying boy now ?
®) 5 ms (&) 5 mis
B) 4.5 m/s ®) 4'05;73
1 S
(©€) 10 m/s ©
fer
\E_The cart will be stationary @ FH et




20.

An electron enters a magnetic field at
right angles to it, as shown in figure.

The direction of force acting on electron
will be

Magnetic field

U

Electron

(A) Out of the page
(B) Into the page
(C) To the right
(D) To the left

20.

83/2023
o gt AR 1§ Sorag e
g 8 & 8 % Sl o H@ g
PR W ARG o H e =0 3nf 5

1
—>

WV

AR
(A) ST | STEH A I W
(B) FITH # Wiat i AT I14 g

21. Which of the following is not an 21. T 7 & sF-a1 werer a1 gy
application of ultrasound waves ? |
(A) X-ray of bones (A) BEAT 1 -1
(B) Echocardiography (B) ShIbISITTE!
(C) To detect defects in metal blocks (C) ¥1g QuSt 7 3‘[% HT 9dT AT
(D) To clean electronic components (D) FAFIH Tehl hH HIS
22. A short pulse of white light is incident 22. Y0 YHW H TF Y W Ig § g &
from air to a glass slab at normal. After T WY T oF=ad Aafad g1 € | &
travelling through the slab, the first a ﬂqﬁ * q'qaﬁ['gaé Tgo fta 89 aren
colour to emerge is ot E}P'IT
(A) Blue @A) e
(B) Green (B) ELu E "E
. - E-El
(C) Violet (C) St
D) Red (D)




24.

25.

2Q 4 Q

2Q

o)_:.‘ };
K 19v

In the circuit diagram given in figure
above, calculate the current through 3 Q

resistor.

(A) 3 Amp.

(B) 1 Amp. (B3
© 2Amp.  E¥E
(D) 1.5 Amp.

Which part of human ear converts
the pressure vibrations into electrical
signals ?

(A) Stirrup

(B) Anvil

(C) Eardrum

(D) Cochlea

A person cannot see objects distinctly
kept beyond 2 m. This defect can be

corrected by using a lens of power
(A) 405D
(B) -0.5D
(C) +0.2D

D) -0.2D

23.

24.

25.
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40 24

2 Q

K 12V
@ (Iw) # few 7o afwy 3@ # 3 Q
¥ sy § R wrg 6 o HIRT |
A) 3 e
B) 1T
(C) 2T
D) 1.5 @R

WIS % H HI HH-F1 T EE FEHI
! forega wohal § aqean § 7

(A) TETH

®) free

(C) M F1 R

(D) Forterd

& S 2 m ¥ A gt W Rm fas
H W T 3@ ThaT | T N H TG
3G &g ¥ I g R S gwear ?
firereht & B

(A) +0.5D

(B) -0.5D

(C) +0.2D

(D) -0.2D

-9-



26.

27.

In the given curve figure, half 26.

wavelength is

A B

(A) AB
(B) BD
(C) DE
(D) AE
The SI unit of electric charge is

Coulomb (C), which is equivalent to the
charge contained in which is nearly

(A) 1.6x 107 electrons

27.

83/2023

(A) AB
(B) BD

(C) DE

(D) AE

S ST 1 .. (SI) T Fe (C)
B % | T8 (Tm) TR ol | S
A % Ged (F9H) BT 8 ?

(A) 1.6 x 1070 gl

(B) 1 electron (B) 13
(C) 6x 10'8 electrons !E!E!' ] (C) 6x 10183ﬁﬂﬁ=ﬁ
(D) None of the above (=] D) I § F Hig T8 :

28. Which one of the following material 28. = @ @ sF-91 Tered S9 EFl"lfl * F’c‘l’Q
can not be used to make a lens ? W g foReT ST Heha ?
(A) Water (A) VT
(B) Glass (B) &9
(C) Plastic (C) e
(D) Soil o) gt

29. A copper sphere of mass 5 kg has the 29. 5 frUT g & afS qop 2 fopuT TEmE
s is 2 k. Bt spheres are droppod 1% 3 M 5 7 4 2
simultaneously from a tower. When they ore-sfrme & T H1 R HIEEET
are 6 m above the ground, they have the aet T 6. W g aw T 99 2d &
same @) g
(A) momenta
(B) potential energy (B) et ot
(C) acceleration (C) ™=
(D) kinetic energy (D) o St

A -10-
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30. For which of . the following graphs, the 39 PAEAIFTIS # fepelt fyfgea geEIT=al
average velocity can have zerg value for a . B Fehdl 27
certain time interval ? ‘x’ and ¢’ represent F ford aftaa 9 &1 7 F .
displacement and time respectively. & ¢ shul: ferumed F 'R I i & |
1/ '
5 /
A % H"
X (=183
X
.9 X
2t >t
. % N x
®) / (D) /
2t >t
31. Archimedes principle is not used in 31. = o @ fraw snfhide & Torgra v
which of the following ? T8I BT ?
(A) Designing of ships (A) Wjﬂ ENEIEIRESIFER:
(B) Lactometer B) AT
(C) Hydrometer ©) E@"ﬁ?{
(D) Speedometer (D) Sfierfiet
32. The resistance of a domestic electric 32. E'iﬂ forggd s, f w100 W - 220 v
bulb, marked ‘100 W — 220 V' is 3ferd &, 1 SfeRiy e
(A) 100 Q (A) 100 Q
(B) 484 Q (B) 484 Q
(©) 220Q (€) 220 @
D) 2.20 D) 2.2Q
33. 10 J work done is equal to 33. 10JFH R
D) 100 Nm (D) 100 Nm
-11-
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CHEMISTRY /T@RAIRA
34. The isotope of which of the following 34. Ty=faRea # q fopg a1 TS
element is used in the treatment of Far ¥ ITER F T= fp @ 8 ?
cancer ?
(A) Iodine (A) ST
(B) Uranium (B) L
(C) Cobalt (©) HIETE
(D) Zinc (D) 1
35. Say True or False. 35. G I1 ATH FARY |
i. Solid heat _ Liquid 3| _SH g8
—
ii. Liquid heat _ Gas i, g@ S0, =
’ : fiad | 3=
iii. Liquid _ cool , Solid . g
(A) True, False, True (A) 99, JAEH, 9
(B) True, False, False (B) 9, I{H, AHAE
(C) True, True, True (C) 9, 94, 94
(D) False, True, True (D) IEA, A, 9
36. Buckminster fullerene is an allotropic FhA 3?@'&? <1 Teh 3TEY R |
form of o3 (A) HERRY
(A) Phosphorus ‘(B) T
(B) Sulphur
(C) Carbon © e
(D) Tin D) f&=
37. Carbon is an example of which of the 37. f=fafaa § 9 wea foraen RS % 7
following ? A
(A) Metal (%) H1d
(B) Metalloid (B) 394Tg
(C) Non-metal (C) au1g
(D) None of the above (D) I | Y HI3 78
38. Name the gas present in cooking gas 38. ©U W @M ¥ | S TN T firered
cylinders in home. ¥ IufRg g - ‘
(A) Compressed Natural Gas (A) ufifea H’@ﬁ'ﬁ; g
(B) Liquified Petroleum Gas (B) W 3 ':'ﬁ .
(C) Liquified Hydrogen Gas ©)
(D) Liquified Carbon dioxide Gas 55 s
(D) sEiFd H1e TR3TETES L
A -12-
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How many structural isomers can be

83/2023

44. S (C H, )T fepan TIATCh

formed by butane (C,H, ) ? quTETE S 1 G 8 7
@w1 o EEE @ 1
B) 2 el (B) 2
©) 3 €) 3
D) 4 (D) 4

45. Conversion of a solid directly into gasis  4b. g ¥ @Y i § aiEda o
called hgl SITdl 2|
(A) Condensation (A) T
(B) Fusion (B) ddH
(C) Sublimation (C) I
(D) Evaporation (D) iRt

46. How many number of moles are present 46. 128 UM SOzﬁ fra AT B 8 7
A) 01 ®) 02
B) 02
(C) 03 (C) 03
(D) 04 D) 04

47. Evaporation increases with 47. ISR ST 2

i. Increase in surface area i. a8 &9 94 |
1. Increase in temperature i, qT9HE # ‘a'i?a' o
iii. Decrease in humidity i st 3 E-
iv. Increase in wind: speed ) .
wv. 99 EIRIIGR:] iﬁ; T
Choose the correct option from the
following : Fefefea & & wd Rrew i
(A) 1i, ii, iii and iv (A) 1, ii, iii 3R iy
(®) Onlyn (B) aed i
(C) Onlyau ©) ¥ iii
Only iv
@) Ony (D) %ae iy
A

-14-



48.

49.

50.

51.

52.

What is the unit of density ?
(A) moleflitre

B) kgm™
(C) gram ¢cm™
(D) both (B) and (C)

The given reaction is an example of
NaHCO; + HCl —— NaCl + Hy,0+CO,
(A) Simple displacement

(B) Neutralisation

(C) Decomposition

(D) None of the above

Arrange the following elements in

the decreasing order of their metallic
character :

Na, Si, Cl, Mg, Al

(A) Na>Mg=>Al1>Si>Cl
(B) Al1>Na>Mg>Si>Cl
(C) Mg>Na>Al>Si>Cl
(D) Si>Na>Mg>Al>Cl
Aqua regia is 3 : 1 mixture of which of
the following acids ?

(A) HNO, : HCl

B) stO f & HCl

(C) HC1: I-INO3

(D) HC1: H280 3

The atomic radius decreases on moving
from left to right along a period

(A) Due to increase in nuclear charge
(B) Due to decrease in nuclear charge
(C) Due to decrease in atomic number

(D) Due to increase in atomic number

48,

49.

50.

ol.

52.

83/2023

I Y IHE M1 8 7
(A) Wt /el

B) f6am. des

(C) ™ afi3

(D) (B) 3 (C) Qi

e srfifran e 2
NaHCO, + HCl —— NaCl + H,0 + CO,

(A) g foemam
(B) ST

(C) foeren

(D) ST F A B3 T8

Pt et 1 39 TR g et it %
0 I ey hive

Na, Si, Cl, Mg, Al

(A) Na>Mg>Al>Si>Cl

(B) Al>Na>Mg>Si>Cl

(C) Mg>Na>Al>Si>Cl

(D) Si>Na>Mg>Al>Cl

Y Wren fefaiaa § 4 fvg v =
3:1fy3m g ?

(A) HNO, : HCI
(B) H,SO, : HC
(C) HCl: HNO,
(D) HCl:H,SO,

ared o W @ ¥ 3R S W aE e
et 7

(A) I T AT 9@ & BRI

(B) 1fireh # (AW WA & HRW

(C) TRHTY] HEAT T & HR

(D) YTAIY] TEAT qg & BRI

-15-



53.

54.

55.

56.

57.

The atomicity of sulphur is
(A) Monoatomic

(B) Diatomic

(C) Tetraatomic

(D) Polyatomic

Which of the following is used as anode
in the electrolytic refining ?

(A) Pure metal
(B) Impure metal
(C) Non-metal
(D) Metalloids

(B33
(OO

Black coating of silver and green
coating of copper are examples of

(A) Oxidation
(B) Precipitation
(C) Corrosion
(D) None of these

The chemical formula of bleaching
powder is

(A) Ca(OH),
(B) CaCl,
(C) CaCo,
(D) CaOCl,

Which of the following molecular
compounds represents a correct

chemical formula ?

(A) Calcium chloride — CaCl
(B) Hydrogen sulphide — HZS
(C) Sodium sulphate — NaSO .
(D) Sodium sulphide — NaS

53.

54.

55.

56.

57.

83/2023

TeHT i THTIEHAT B
(A) TH-THTH

(B) fg—TwmTIIh

(C) I

(D) TERATIS

e @ Rl frea sraere aew §
¥ ¥ w9 8 T @R ?
(A) U< 491q

(B) 3s Yrd

(C) JA41q

(D) 39HTg

il % HI Hielt Wa 9 dd & IR gl
W fraes IgE § 7

(A) ITTH

B) =&’

(C) F&m

(D) T @ g T&

ot 3ot =1 TR 93 2
(A) Ca(OH),

(B) CaCl,

(C) CaCo,

(D) CaOCl,

= & @S- sufys Rt wd
T g i gwiar & ?

(A) FfcaTm FAUS — CaCl

(B) TEFISH HTHTS — H,S

() Hifea™ Fehe — NaSO,

(D) WIfSTH TH1EE — NaS

-16-
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58. What will be the mass of 3.8 litres of

SO, at S.T.P. ? 58. ngﬂ-{zﬂaw3.8?ﬁaw
TrseETEE 1 FeAAT 1 & 7
(A) 5.5 gram
(A) b.5T™
(B) 5 gram
'%.g (B) 57
(C) 10.85 gram (C) 10.85 7T
(D) 8.5 gram D) 857
59. Heat energy required to change 1 kg of 59. Isfiy qrg < HEAT N 1kgdd %I IqH
a liquid at its boiling point into gas at FAYAH T, W g T el e
atmospheric pressure is called o uiEdd ¥ for =nfey 38 =1 el SA1dl g7
(A) Latent heat of vaporisation (A) aTsfieRtor shY e ISAT
(B) Latent heat of fusion (B) weH 6 T AT
(C) Heat content (C) 3sT UTid
(D) None of the above D) I & | BIg T8I
60. Propane, with the molecular formula, 60. SO T U qa CsHs 2 | 3o
CHg has

(A) 11 GEEAISH AEY 8
(B) 10 GgEASh ATEY &

(A) 11 covalent bonds

(B) 10 covalent bonds

(C) 12 covalent bonds (€ 12 ARG WY
(D) 09 covalent bonds D) 09 HEEAISTH AEY &

61. The maximum number of electrons 61. Torelt <pam o IufRa Afteman sﬁaﬁq‘t e
present in a shell is given by the &1 H qa I - - i1 11
formula @A) 902

2
(A) 2n ® 2
B) n”
(C) 2n
(C) 2n
@ n ®) n

17- A
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62.

63.

64.

65.

66.

Which gas is used in flushing bag of
chips for preventing them from getting
oxidised ?

(A) Hydrogen

(B) Chlorine

(C) Carbon dioxide

(D) Nitrogen

The general formula for alkene is
(A) CnH2n
B) C H

n 2n+2

© Can
(D) CnH2n—2

The process in which carbonate ores are
changed into oxides by heating strongly
in controlled air

(A) Gangue
(B) Roasting
(C) Calcination

(D) Corrosion

Average atomic mass of Bromine
isotopes 72 Br (49.7%) and 5! Br (50.3%)
will be

(A) 80

(B) 85

(©C) 75

D) 70

Find the ratio of mass of combining
elements in water (H20).

(A) 1:8
B) 8:1
© 1:1
D) 2:1

62.

63.

64.

65.

66.

83/2023

fr & 3T #1 VHT H Ry R §
Ot & wa-fi Mg v o @ 2

(A) ETEGIH

(B) TR

(C) HEA SEHTFTES

(D) SIS

UehiFl &1 |qT g7}
@) CnHzn

(B) CnHZIl + 2

(C) C_H_

(D) CnHZn -2

g "fshan Rred FiAe 3w +! difta
I A e a9 W T W TR
JTeaTss | iEfdd 8 a8

(A) i1

(B) WSiF

(C) Freamam

(D) HERT

S % gEeenfi 22 Br (49.7%) 3R

83 Br (50.3%) T 3{Gd TWHIY] Go4H &R
(A) 80

(B) 85

(C) 75

D) 70

e (H,0) H HgF el % oA ST
1 Mo Shifsa |

(A) 1:8

(B) 8:1
© 1:1
D) 2:1

-18-



67.

68.

69.

83/2023

BIOLOGY /<iavieA
) baaD ﬁ?lﬁﬂ
Which of the following is not known as 67. FH @ HH-H ‘ﬁaﬁﬁ, f I

B Vitaming ?
(A) Thl:::iﬁe Egm mé;,?
(B) Folic Acid Of 0% ®)
(B) wifetsh A

(C) Ascorbic Acid (€) qﬁ;ﬁiﬁ A
(D) o - lipoic Acid (D) IeHT-forags I
For which of the following culex g8. = A Reges foTy wied T=X TH
mosquito is a vector ? aEHE T
(A) Wuchereria (A) TR
(B) Leishmania (B) wfremfrn
(C) Trypanosoma (C) aﬁ'vﬁ'{:ﬁq‘l
(D) Neisseria D) Fafen
Following diagram depicts cross section  69. fr=ifea o T Sfew g m_ﬁ
of a complex permanent tissue, showing IR <hIC ¥ fafir R 3% 9T
following elements : ST @

i. Sieve cell i, =T IR

ii. Phloem parenchyma ii. Ay ﬁi-—ﬂsm

iii. Companion cell

iv. Sieve plate

.s 1
Y
EB) S . b @ B d a b ¢
o % b o d € a b ¢ d
(‘D) S b 4 s @ c b d a
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70.

71.

72.

73.

Emasculation is required for which of
the following ?

(A) To obtain pure lines
(B) Selective hybridization
(C) Self pollination

(D) Inbreeding

Which of the following is related with
discontinuous variations produced
during the process of evolution ?

(A) Orthogenic variations o) E]:e
oy
(B) Mutations ==

(C) Blastogenic variations

(D) Morphogenic variations

Choose the correct statement from the
following.

(A) Typhoid, Cholera, Tuberculosis are

caused by viruses.

(B) The antibiotic Penicillin blocks the

bacterial processes that synthesise
DNA.

(C) All the viruses live inside host cell,
whereas bacteria very rarely do.

(D) All bacteria multiply inside host
cell.

On injury bleeding occurs. To avoid this
which of the following helps plugging
the leaks by making clots at the point of
injury ?

(A) Monocytes

(B) Lymphocytes

(C) Platelets

(D) Basophils
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ﬁwﬁmﬁnﬁﬁm%
B R 7

(A) I Hafa I F & forg

(B) Tafa g

(C) & Tl

(D) IS

i § & 1 i ik & any
IO B ATl IrEaa faf=anen @
graEfg ® 7

A) nuiafes faftmand

(B) IaafEda

(C) SRR Tl

(D) T fafimand

fafefea & & wdt Fom 9 |

(A) TAHITS, BT, &I U femmop Sifa
T E |

(B) Tl e TAarfes S
$1.U4.U. YN A et Uit &
T A B |

(C) &t farwoy, Arfi-=hifdreht & 37t @
g, S Sfampstt & a8 Fft-am @
<@ AR |

D) &t Sframyy, diwss Sifdrn § Sge
B E |

e B TH W EE 8l 8 | 59 geel

¥ w91 & fore e f @ 99 am & W

;mmmﬂaﬁﬁmaﬂ
?

(A) HETEe
(B) formaTe
(C) wiTee
(D) SHifher
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76.

71.

78.

A few statements regarding sexual
reproduction are given below :
I. Sexual reproduction does not require
two individuals.
II. External fertilization is a rule during
sexual reproduction.
III. Sexual reproduction generally
involves gametic fusion.

IV. Meiosis occurs during sexual

reproduction.
Choose correct statements from the
options given below. EEiE
(A) Statement I and II ?EI . ”-:

(B) Statement I and III
(C) Statement III and IV
(D) Statement I and IV

Which of the following controls reflex
movements of Head and Neck in response
to visual and auditory stimuli ?

(A) Spinal Cord

(B) Fore Brain

(C) Mid Brain

(D) Hind Brain

Which of the following animals has
book lungs for respiration ?

(A) Centipede

(B) Scorpion

(C) Palaemon

(D) Hyla
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2 Jfve 97 & Ty H 3B 99 Ry

TR

1. Siffres st o <) Sl Y ST T
gt 2 |

11, e S % g @ eE € da
2

II1. Afireh 999 | |Ha: I Gord gl
g

IV, Aftes S99 ¥ TGl foem dran @ |

T aeat 1 a5q FafaRaa et 4 @

HfT |

(A) qo I iR II
(B) T I 3R III

(C) T I 3 IV
D) T™I IR IV

fer & § # gfR T wfy A F 7R
fo 7 T 6t Wit TR =7 Fre |
HE 8 ? |
(A) YA TE (AE) |
(B) 3W nfeTsh
(C) We ufeash
(D) 9¥a AfErsh

fm 3 & fopm ovg 8 veem & forg g o
(Frarsft SweT) graT @ 2

(A) a=<dE

®) fereg

(ORSLIE

(D) &I
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